PUNJAB EXAMINATION COMMISSION

EXAMINATION 2019, GRADE 5 Model Paper

SCIENCE PART - B (Subjective Type)

Rubric with Model Answers
Instructions:- Main points of answer are given below each question. Marks for these points are given
against them. A student may present these points in the form of paragraph or points, both cases are
acceptable. If a student writes anything other than these points and if that is correct, he/she should be
awarded with marks but in consultation with Subject Specialist of PEC (03217917000).
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Q. No0.26. (a) Give two characteristics of fish. (2
-u.““ﬁ :;_lg:" »J u::.l‘f

Rubric: Award one mark for each correct characteristic.
<Q;/.,{!Koa‘r‘§ofwug

Acceptable Answer:
Live in water, Streamlined body, fins, tail, gills to breath.

wbe AL LD P AR
(b) How fish are different from amphibians? Give any two differences. 4
-U:dj G0 udnai® L e B4 uLé

Rubric: Award two marks for each correct difference.

_J“)/»aidﬁc/u.{!
Acceptable Answer:
Fish oy Amphibians =
1. Have fins & 7 | 1. Do not have fins SIS P
2. Live in water GtGusdL | 2. Can live both in water and land ujéu/?u;»u@ L
3. Do not have limbs G e | 3. Have limbs N
(c) Encircle four fish from the animals given below. (4)

..dj Gnsrs /. Lué‘f /lgcuf u:/]ngd“_;é;
Rubric: Award one mark for each correct encircling.
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Acceptable Answer:
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Notes:

Q. No.27. (a) Match the microorganisms in column A with the diseases they cause in column B. (3)

_wig:o)‘fu%uflﬁcug/kgul{d;JBHKfu;ﬂil’pu:‘}ufég;gﬂAHK
Rubric: Award one mark for each correct matching.

_Q")/t‘;ugﬁ.l}wubg’
Acceptable Answer:
Column A Af¢ | Column B B/Y
Microorganism A,clg&ui Disease Uik
Virus J s | Cholera 2
/
Bacteria L3 @ ey
Fungi J¢ | Dengue o3
(b) How do viruses enter human body? 5)
surlnfoel ot duiy
Rubric: Award one mark for each correct way.
<u:;/.j.{!g%/un/;

Acceptable Answer:
Ways: Through air (sneezing and coughing), through water (by drinking contaminated water), through
contaminated food, through cuts on the skin, through animals etc.

i 3L Ul 5L it S LA T e 2 YD 5 LS S 2 5 L2 b
(c) Suggest any two ways to prevent viral diseases. 2
-U:/(/.. .~2f,, }’»c.é;'/ d:'éc_ugjk‘,dl,Ln!égcJ Il

Rubric: Award one mark for each correct suggestion.
_Q;/u{!ﬁiuuu{!
Acceptable Answer:

Suggestion: Wash hands before eating, wash hands after using toilet, wash fruits before eating, brush teeth
regularly, keep your surroundings clean, clean and cover injury with a bandage, cut your nails regularly etc.

Gl S Sl P 3 1Sl Uin St S G e St U S L e LS A L eab s A M e LW
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Notes:

Q. No.28. (a) Compare the properties of solid and liquid given in the table below. (4)

_Q’/:JIYKQEJ:“;Jél.ulu’);éfd;gﬂﬁé
Rubric: Award two marks for each correct difference.
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Acceptable Answer:

Solid u# Liquid &
Forces between particles More ol | Less 3
g)f;’.u&"uéalu'
Order of particles Particles are arranged in an order Particles are not arranged in an order
vi;(!:alu' ujLn;?u:%?Pugol/;' uijZQZQﬂ;uﬁ,é']..{!aU}
(b) Give one example of melting from your daily life. (2)

-u:)dlfﬁ.{l Jfﬂ‘{é{i]of}'ﬂ&l

Rubric: Award two marks for each correct example.

Acceptable Answer:

A force which slows down or stops the things from moving.

AL n ]
Acceptable Answer:
Melting of ice, melting of candle etc.
Yy !U"fﬁ:"p’:u"f{d%
(c) Give two differences between melting and freezing. 4
-uﬁﬁ)»uﬁ;l}mlfﬂ"{
Rubric: Award two marks for each correct difference.
AL n i
Acceptable Answer:
Melting 5ok Freezing AZl
Solid changes into liquid ctwbestw# | Liquid changes into solid ctndsStUAE
Heating is required < dsen iz | Cooling is required e dnen dS it
Notes:
Q. No0.29. (a) Define friction. (2
G/ by
Rubric: Award two marks for correct definition.
_u’";/.jnﬁ._.y/’;uu
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(b) Identify against each of the processes given in the table below whether that is an advantage or
disadvantage of friction and tick mark in the respective column.

-ufﬁjU@(JJHK}W}:I‘ULJ"E‘LM’G(M!}ufg[/(ﬁlb‘h{fﬁizr:ufJf‘f‘é
Rubric: Award one mark for each correct tick.

(4)

-Q}/u@(f&/ﬁb{’

Acceptable Answer:
Process J Advantage »£6 | Disadvantage gl
Writing el \—
Wear and tear of tyres tb U Eusst \—
Heating up of engine e SKGF —
Walking tle \—
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(c) Give four examples of such bodies which use streamlined shape to reduce friction acting upon them.
(4)
B S ey LS le‘ﬁ/l;mzq)u‘lmw el
Rubric: Award one mark for each correct example.
‘J”}/.jb{! K s L
Acceptable Answer:
Fish, Aeroplane, Swimmer, Boat, Cyclist etc.

_u;,}u!/flﬂf/‘d/l/fdgqéinr(}é
Notes:

Q. No0.30. (a) How transparent objects are different from opaque objects? Write two differences
between them. 4

VL St sl L e lar et et

Rubric: Award two marks for each correct difference.

<u:)/7‘;u£0/':/u~{’
Acceptable Answer:
Transparent objects  (Lz1J2 Opaque objects  lziiks 4
Allow light to pass through them Do not allow light to pass through them
uj"g}L/}'ffGﬁuauf}f}? "%}J.T;L/}C{(jﬁucuﬁ;i‘ﬁ
Can be seen through them Cannot be seen through them
LLCﬁl.ala{}/g/TLU’ ‘afﬁlyuﬁ;b‘fugﬂéul
(b) How do eclipses occur? 2
s LS
Rubric: Award one mark for each correct point.
<Q;/:2.{!K¢«5!gu/:.{!

Acceptable Answer:
When Moon, Earth and the Sun comes in straight line, light of the Sun is blocked and eclipse occurs.

«Agi?‘lgjdfju!Aglﬂgd//:/l/K‘}éud/@/r;uﬂgTufufﬂ..{l@/ruluf):ilgge
(c) Give two characteristics of the planet Mercury. 4
_u..“i :4[:4}" »Ja;{,»ulby

Rubric: Award two marks for each correct characteristic.
DAL e s
Closest to the Sun, No atmosphere, No Water, the Smallest planet etc.
Y S N ) BT A S LA PR
Alternate answer: The size of planet and its position are also acceptable. '
Notes:
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